
 

 

 

 

 

 

 

 

ngUf;fy; tpUj;jp 

nrayl;il 16.1 

 

 

 

 

 

 

 

 

 

 

 

gpd;tUk; ngUf;fy; tpUj;jpfspd; fz;L nghJ tpfpjq;fis fhz;f. 

(i) 1, 3, 9, 27, … 

(ii) 10, 20, 40, 80, … 

(iii) 625, 125, 25, 5, … 

(iv) 0.25, 0.5, 1, 2 

(v) 
2

5
,

4

5
, 1

1

5
 ,1

3

5
 , … 

(vi) 50, 25, 12.5, 6.25, … 
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fzpjk;: 

 

juk;  11 

 

thuk; - 16Mk; thuk; 
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khfhz fy;tpj; jpizf;fsk; rgufKt – thuhe;j ghlrhiy 

mLj;J tUk; ,U cWg;Gf;fSf;fpilapyhd tpfpjk; rkdhfTs;s xU vz;Nfhyk; (tpUj;jp) 
ngUf;fy; tpUj;jpahFk;. 

mjhtJ: 

2, 6, 18, 54,162, … vDk; tpUj;jpapy;> 

6

2
= 3,                

18

6
= 3,       

54

18
= 3,       

162

54
= 3 

 

64, 32,16,8,6, … vDk; tpUj;jpapy;> 

32

64
=

1

2
     ,      

16

32
=

1

2
    ,      

8

16
=

1

2
    , … 

,t;tpfpjk; nghJ tpfpjk; (𝑟) vdf; Fwpf;fg;gLk;. 

ngUf;fy; tpUj;jpnahd;wpd; nghJ tpfpjk;  

𝑻𝒏 = 𝒂𝒓(𝒏−𝟏) ,dhy; jug;gLk;. 

cjhuzk; : 

4, 8, 16, 32, … vDk; ngUf;fy; tpUj;jpapd;> 

(i) Kjyhk; cWg;G (𝑎) ahJ?  

𝑎 = 4  

(ii) nghJ tpfpjk; (𝑟) If; fhz;f. 

𝑟 =
8

4
= 2   

(iii) 6Mk; cWg;igf; fhz;f. 

𝑇𝑛 = 𝑎𝑟(𝑛−1)   
 



 
 

 

 

 

 

 

 

 

 

 

 

 

gapw;rp 

(i) Kjyhk; cWg;G 5 ck;> nghJ tpfpjk; 3 ck; MfTs;s ngUf;fy; 

tpUj;jpapd; 4Mk;  cWg;igf; fhz;f. 

(ii) Kjyhk; cWg;G 243ck;> nghJ tpfpjk; 
1

3
 ck; MfTs;s ngUf;fy; 

tpUj;jpapd; vj;jidahk; cWg;G 1 MFk;? 

(iii) 0.003, 0.03, 0.3, … vDk; ngUf;fy; tpUj;jpapd; 6Mk; cWg;igf; fhz;f. 

(iv) Kjyhk; cWg;G 48ck;> 5Mk; cWg;G 2ck; MfTs;s xU ngUf;fy; 
tpUj;jpapd; nghJ tpfpjj;ijf; fhz;f. 

(v) nghJ tpfpjk; 5ck;> 4Mk; cWg;G 250 MfTKs;s xU ngUf;fy; 
tpUj;jpapd; Kjyhk; cWg;igf; fhz;f. 

(vi) 4Mk; cWg;G 3ck;> 6Mk; 27ck; MfTs;s  xU ngUf;fy; tpUj;jpapd; 
Kjyhk; cWg;G> nghJ tpfpjj;jijf; fhz;f. 

 6Mk; cWg;G    𝑇6 = 4 × 26−1 

𝑇6 = 4 × 25   

𝑇6 = 4 × 32  

𝑇6 = 128  

(iv). 512 ,t;tpUj;jpapd; vj;jidahtJ cWg;ghFk;? 

𝑇𝑛 = 𝑎𝑟(𝑛−1)   
512 = 4 × 2(𝑛−1)   

2(𝑛−1) =
512

4
  

 2(𝑛−1) = 128  
2(𝑛−1) = 27  
𝑛 − 1 = 7  

𝑛 = 8  

∴ 512 ,t;tpUj;jpapd; 8 MtJ cWg;ghFk;. 


